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Answer the following Questions:

1- Answer (A) or (B)
Select the correct answer:

A- petroleum oil 1s not classified as a mineral
because it is:

@ organic & crystalline.
@ liquid & organic.

@ liquid & inorganic.

@ amorphous & inorganic.

B- Both Galena & Gold Minerals share:

@ Pearly luster & yellow streak.

@ Metallic luster & yellow streak.

@ Metallic luster & high specific gravity.
(@  Basal cleavage & high hardness.

2- Answer (A) or (B)
Justify:

A- Gabbro is dark colored while granite is
light colored.

B- Occurrence of marble on the zone sur-

rounding the edges of laccolith that in-
truded a preexisting limestone rock.
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3- Answer (A) or (B) | () 91 (1) o3t Ao o3l =¥
Replace the phrase with a suitable | 1@
scientific term: 1 polal) pllaaal) COSH

A- A Geologic structure where layers are bent | 2 %1 clads 4 St O i -

in which the oldest layers in center. o Cladall audl do gl oo
B- Two adjacent normal faults share the same sl Y S e
hanging wall. | ORuglie (rasle Guatla oY s -
.§slall daSlomdl jginis ALS B
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Compare between the two Igneous rocks in terms of:

i (30 Lo (313 (L)L ol pduio el

(B)
4- Texture ‘ it g 93 - &
5- Place of solidification: ‘ L (IS -0
6- example for each one: ‘ Lagio JSI Ylio dac -
Explain briefly what would happen ......... 1 ooy Lo ylualise by 72 it

7-If one of two successions of rocks with | g,sw il (o, wie-V
hard resistant top and soft base subjected | Jaall daclall o5 dodll cdo

~ : alive y3ly ghird o sl
to a.blowmg wind and the other to fast ok lall e 8Y gud ) il
running water?
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8- Results of over-cutting of trees? Sl il | atadt Gl A

9- Results of over-grazing At e I Al -4
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10- Answer (A) or (B) (&) 91 (1) ot aadt s § J3n) =
Replace the statement with a suitable rdde el
scientific term: 1 pelal) llaaall S
A-Break down the solidified rock into | siuleialt ettt ssvalt coas |
pieces by surface factors not chemical or | adlees & atau Jolge Jads
biological factors. ST PP
B- Type of forces responsible for the | .galat GHatl (e b cowds ¢58 o
formation of normal faults.

Study the figure and answer the questions: rib Les i @ s L1 IS b

Upper :
Group Qi

Lower {r==
= o e e e e e
Gl’Ollp _[r ‘ :"‘ 2

@ (V) @l cuS 5 le cByai -1
HLESY e g @

11- Identify structure (1), then justify your answer.

12- Identify structure (2), and justify your answer. | 3 (¥) pd) cuS il le Capas -1 Y
HldaY e ey

o (1) pd) SuS A e o yas Y
ALY e g au

13- Identify structure (3), and justify your answer.
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Conclude + geiaa
14- The name of rock that have grains bigger | »ad Ol ceole 13 sl el 21 8
than 2 mm in diameter. o ¥ (o S Oleeont

15- The name of the igneous shape which | aesiu g2t @ L) Jsadf @ul- Vo

solidifies paralled to the layers. Oladall Ljige
16- Answer (A) or (B) 1 (@) 9f (1) o 3aadt iyt -\
Compare between: ¢ ook (LB
A- Rhyolit§ .& Gabbro in terms of mineral | .. s o ety ot -
composition and rock classification. iy oipapt) |
B- The fossil content of the Cambrian and | sraat o=t Ggimed! -0
Jurassic Periods. Ly 919 (6 peolST !
‘
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Explain
17- The effect and benefits of volcanoes

zC).fM
O3S et 5158 O 15 -\ Y

18- The light and animal activity.

Olguomd | ol g £ guall =\ A

19- Answer (A) or (B)

Replace the phrase with a suitable scientific

term:

A- A rock resulting from the lithification of
calcareous marine shells.

B- A rock with grains 1 mm in diameter
deposited after the mechanical erosion of
rock rich in quartz.

(@) 91 (1) oottt gmiadt A § i3t -1 4

H

1) celal| mllaaql| LIS

Bl dlulad He i oo -

2\:"):-..'«3‘9\:9.343 oS

O g @) Al @ yio -0
ASOISeet ) A pai ) sy w4
eIb sl et
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20- Answer (A) or (B) (@) 9f () ottt A 3t =Y s

Justify: ' 14 e
A- It is difficult to recognize disconformity in A aie oty R 5\
some rock successions. |l | Slaglad | s gd Lellaziy

B- Occurrence of polished surface with | 3929 pe W giias mlawl 392 g 0
presence of parallel lines on one side of a | =g vl (e 20)igio oglas

rock block. ' Ay ALS
21- Answer (A) or (B) | a(@) 91 (1) ot auadt i i3t =Y
What would happen if .......... slie S 130
A- Granite exposed to very high degrees of | | Ble Slasud Sl 2,08 =
temperature and pressure. Sdarially 3yl pmdl (po
B- Water freezes and melts repeatedly in rock | ;3 o lgumity sladl wand 51,85 o
fractures. , §o95all Goad
Choose the correct Answer:
22- Among the primary structures: s Aovonall Al ¥ 5
| e LA gW LS, (pe —YY
@ folds & joints. i Juolgallg Oldalf @
@ joints & ripple marks. ' (o Sle e g Jun ! gal | @
(©)  faults & mud cracks. | asdan atazaan, ghgat ()
@ graded belding & ripple marks. | ed i lede g padatl il @
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23- Among basic igneous rocks:

®
®
©
@

24-

®
®
©
@

mica schist.
basalt.
quartzite.

Andesite.

Cubic and orthorhombic systems share
in:

the three axes are perpendiculer.

the three axes are equal.

the crystallographic axes are unequal.

the three angles are unequal.

Explain briefly:

25-

what would happen when an oceanic
crust subjects to tension in one place and
compression in the other due to the activity
of convection current in the upper mantle.

........ e il Gl | gdsal fe sty
ittt D)
a5 (©

L SBIrS ] @

¥t Q)
M‘jw‘wﬂﬂdﬁ-’fi

, AN (TCTRRRIY Oy
sl bl Yl ggles ()
Johall 8 d gl pglomad glad e ®
Ayl bl b gobaipie (2

bl Ly 7 !
SpiB ol wie Gasw Le-Yo
$9al Lo dalhaie B Adaise
94l (5 dalate EPRNVAL
Gl dolds  Jads dardall
sl Ldadt 22 0TS B Lot
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26- The Governmental effort to face the | ;g3 cigli AmdlSat W otlngga - YT
pollution of the River Nile. -l

27- Ways to face mineral depletion. LOalaed | Bl e § o - YV

Vo
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28- Answer (A) or (B) 1@ (@) 9F (1) o 3aadt dm i pdint -YA
Explain briefly what would happen if ........... [ g 5 Le ylialis by 7 o
A- An obasta.cle or protrusion gets in the way | s, 11, atqa 1 it o ]

of a blowing wind carrying sands. PR giegins
B- A pebble or stone in desert subjected to €ro- | w2t Jasd jous dalad 4o pai -0
sion by a blowing wind carrying fine sands. Jla b Alesmal i 10

@3 I Elalai G JSAH ol
s AGY AW o cui

Study the given figure and answer all
questions:

29- select a name for part (1) and describe its

08 11 At pLialls st @l il - ¥4
rock texture. :

.@316!‘0)35«.@&«.«43«.&.«/43(\)

30- select a name for part (2) and describe its
rock texture.

PERPPRIBEX PSS TVt
T3S 093 i iuoy (V)

"

wwyjailledg o



31- select a name for part (3) and describe its | pd db adf jliedlsjott Sle B pai =¥
rock texture. B 5ed! ) g3uio g a9 (V)

Replace the following phrases with suitable | zla—aetl A.6%1 O yalt Juiiw!
scientific terms: rcuwlialt alal!
32- Magnetic directions preserved in rock | “osams drugdolias Slalxil -¥Y

that are different from present direction. A Slals

33- Thing that are done by human with their | asuasy aetas Hlas ¥ dais Loy - YV
education and development such as | g oSy E lally piladlls
factories, roads, irrigation system ... etc. - Bially

\Y
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34- select the correct answer of two only of | : Legic conig (15w dadd yisn -Y'¢

(A), (B), (C) and (D):
A) Among secondary structures: :

@ folds & joints.
@ joints & ripple marks.
@ faults & mud cracks.

+ Aovouall Agla W1 5|
........ A gLt CuS1 8 ya
Sotsatigetaatt (1)

el Gl g Juotsatt (D)
dall SlERLIN, 3 satt ()

@ mud cracks & ripple marks. | o Ol Sle g dddal| Claz il @

B) Flowering plants and modern boney fish |
dominated. -

@ Cretaceous Period. .
@ Archaean Fra.

@ Pre - cambrian Eon. '
(@  Oligocene Epoch.

C) The oldest organisms on Earth were:

@ reptiles. |

@ anaerobic bacteria.
@ boney fish. '

@ coniferous trees.

D) The Asthenosphere layer is located in|
the:

outer core.
oceanic cust.

upper mantle.

®O0eE

Inner core. '

\Y
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Explain Briefly:

z)ha::'-\e CJ'ZM

35- The differences and similarities between | lawti 3 by STEM, Lo B o
.Q:guJ\SJ‘j }3)‘35.” O

Quartz & Calcite.

36- Marine planktons

Sy d | Dladlgd ! -
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37- Answer (A) or (B) - select the correct
answer:

A- Excessive use of unrenewable resources is
called:

@ resources depletion.

@ industrial revolution

@ ecological equilibrium

@ getting rid of industrial waste

B- Microorganisms feed on the dead bodies of
animal and plants:

plankton.
decomposer.
parasitic.

consumer

®0eE

\0

1@ (@) 9l (1) (13t i § JX50 - ¥V
+ Aowoual | Aala W |

e 3)lgelt aliad! MG

........ (i) BT |
slpatt catpiwt (1)
Aeliodys @
e 03153 L.

e lall SLlat e patsatt - ()

SBLAY plus | (o 25 228 OLSIS -0
........ Le? #1508 Wikadl Gl gummd g

asbacusts (7))
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o @3 lalel U JISEHT amdl
s S JS Adlatiel| Al (e

(A)

study the figures (A) & (B) and answer all
questions:

(B)

sediments

/@ trasponatxonr\

| 1 I%l 3 |(_ sedimentary

rPcks

water L.

38- What does (1) point to in figure (A)? ‘ $(1) IS b (1) o8y i Lo e = YA
39- What does (2) point to in figure (A)? ‘ §(1) ISt 8 (Y) @By i Lo (oo Y4
40- What does (3) point to in figure (A)? ‘ 3(1) ISt B (V) @l y ity Lo (e - £+
41- what does figure (B) represent? ‘ (@) 2 ISt S Lo - )

42- What stage of river is found in figure (B)? ‘ (@) JSdt B pgid | A j0 Lo -8 Y

AN
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43- Answer (A) or (B)
Compare between:

13 (@) o (1) (ol 13t i pisn) -8 Y
1o QL8

A) Oceanic and continental crust in terms of | ; 4 _ 43 291 3 a0 13 ) |
thickness, composition and representative | o gsatly clowdl cus  (ye

rock.

Lag! Aiaall )giially

B) The Asthenosphere and the inner core, | I8 cllly jdwguwd¥ —o
in terms of condition, location and | OlSelly Al Cus o o)

composition.

N KON

Explain Briefly:

BYPRESIPe.1

44- carnivorous trophic level in the marine | _a agsut) oSt atutu clats £ ¢

ecosystem.

S o> 91 9N | pliait

Y
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45- Stability with ability to change in the | jcailt alat pe Haiw¥ -t0
ecosystem. R ¥ A LEVA [

A
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